
Tech. Services: (800) 477-8326
Fax: (800) 765-8326

Order Entry: (800) 541-1418
Fax: (800) 288-7031

Hydraulic Technologies 
5885 11th Street
Rockford, IL 61109-3699 USA
www.powerteam.com

Form No. 3134-AA

INSTALLATION INSTRUCTIONS
FOR KMC_

Sheet No. 1 of 1

Rev. 2 Date: 30 Aug 2011

BEFORE ASSEMBLY:

1. CHECK THAT THE KIT CONTAINS A K-187 MOTOR ATTACHMENT KIT WHICH CONTAINS:

ASSEMBLY INSTRUCTIONS:

1. INSTALL COUPLING TO MOTOR DRIVE SHAFT

2. INSTALL LOCK WASHERS ONTO M6-1.0 x 35MM SCREWS.

2. CHECK THAT PUMP HAS BEEN CORRECTLY INSTALLED TO ENDHEAD.

DESCRIPTIONQTY

4     

RECOMMENDED NEXT STEP:

1. INSTALL INTEGRAL VALVES.

4     
1     

M6-1.0 x 35MM SHC SCREW ( P/N 3009-AA) 
Ø.250 LOCK WASHER ( P/N 3020-AA) 
COUPLING ( P/N 2001463)

3. MOUNT END HEAD TO MOTOR USING M6-1 x 35MM SCREWS.

4. TORQUE M6-1.0 SCREWS TO 8-10 FT-LBS.

M6-1.0 X 35MM (4)

Ø.250 LOCK WASHER (4)

COUPLING

https://hydraulictechnologies.com/



